

Available online at www.sciencedirect.com





Ann. I. H. Poincaré - AN 24 (2007) 341-359

www.elsevier.com/locate/anihpc

(0.1)

# An evolutionary double-well problem

Tang Qi\*, Zhang Kewei

Department of Mathematics, University of Sussex, Falmer, Brighton BN1 9RF, United Kingdom

Received 24 February 2002; accepted 24 April 2002

Available online 20 December 2006

#### Abstract

We establish the existence theorem and study the long time behaviour of the following PDE problem:

 $\begin{cases} u_t - \operatorname{div} \nabla W(\nabla u) - f(x) = 0 & \text{in } \Omega \times (0, -\infty), \\ \nabla W(\nabla u) \cdot \mathbf{n}|_{\partial \Omega \times (0, \infty)} = 0, \\ u(x, 0) = u_0(x) & \text{in } \Omega \end{cases}$ 

where W is a specially given quasiconvex double-well function and  $f \in L^2(\Omega)$  is a given function independent of time t. In particular, the existence theorem is established for general given source term f, the long time behaviour is analyzed under the assumption that  $\int_{\Omega} f(x) dx = 0$ .

The system is an evolutionary quasimonotone system. We believe that the existence of solutions established here is stronger than the usual Young Measure solution and is the first of its kind. The existence of a compact  $\omega$ -limit set as  $t \to \infty$  is also established under some non-restrictive conditions.

© 2007 L'Association Publications de l'Institut Henri Poincaré. Published by Elsevier B.V. All rights reserved.

MSC: 35K55; 49J45

Keywords: Quasiconvexity; Long time behaviour; Semi-flow

# 1. Introduction

In [8], it was established that for a general parabolic system, generated as the gradient flow of a rank-one convex energy functional, the energy at any time is less than or equal to the energy 'smoothly sampled' at earlier times. In this paper, we give a concrete example to this result. Furthermore, for the given example, despite lack of higher regularity, we obtain the long time convergence of solutions. Before we start our discussion, we mention the recent interesting papers of [18] and [7]. In [18,3], the existence of Young measure solutions for non-convex elasto-dynamics was discussed. In [7], the existence of weak but non-Young measure solutions for the non-linear flow equation of the type we dealt with was discussed. The setting of [7] is abstract with strong assumptions on the quasimonotonicity of the energy potential. In our setting, we look at a concrete quasiconvex function that has double-well potential and not necessarily strongly quasimonotone. Related problems have been discussed in [13], [14] and [17]. The distinct feature

\* Corresponding author.

0294-1449/\$ - see front matter © 2007 L'Association Publications de l'Institut Henri Poincaré. Published by Elsevier B.V. All rights reserved. doi:10.1016/j.anihpc.2006.11.002

E-mail addresses: q.tang@sussex.ac.uk (Q. Tang), k.zhang@sussex.ac.uk (K. Zhang).

of our paper is that our potential energy function is specifically given, with clear double-well structure [5,12] and is not necessarily strongly quasimonotone, we can obtain the existence of strong solution that has long time convergence properties. We believe that this is the first result of its kind.

It is worth pointing out that if we replace the Neumann boundary condition by Dirichlet boundary condition in (0.1), then the corresponding problem becomes strongly monotone and the analysis can be carried out along the lines of standard non-linear parabolic theory.

We conclude that the evolution of micro-structure in the particular setting of our problem settles down to the steady state over the long time period. However, it is not known if the evolutionary solution will settle down to the energy minimizers. In a separate paper (cf. [21]), we establish some examples illustrating that under some special boundary conditions, the solution of the heat-flow problem could converge to solutions at different energy levels and provide a general picture for analyzing these problems.

In [24], the steady state problem of (0.1) has been studied

$$\operatorname{div} \nabla W_{\lambda}(\nabla u) + f(x) = 0 \quad \text{in } \Omega, \nabla W_{\lambda}(\nabla u) \cdot \mathbf{n}|_{\partial \Omega} = 0$$

$$(1.1)$$

where *f* is some given smooth function on  $\Omega$ ,  $\Omega$  is a bounded open smooth subset of  $\mathbb{R}^n$ , *u* is a mapping from  $\Omega$  into  $\mathbb{R}^N$ , *N* and *n* are any positive integers > 1,  $W_{\lambda} : M^{N \times n} \to \mathbb{R}$  is a non-negative, quasiconvex double-well function vanishing at two matrix points. In this paper, we consider the corresponding evolutionary system (0.1).

In Section 2, we give some preliminary results and introduce our double-well model and give the detailed properties established in [24]. In Section 3, we present preliminary results and introduce the weak formulation using finite difference. In Section 4, we establish a priori estimates independent of discretization. In Section 5, we discuss how to obtain convergence using insufficient a priori estimates, the existence of solutions is established using the given  $f \in L^2(\Omega)$ . In Section 6, we use Galerkin method to briefly discuss the existence of solutions using f with constraint  $\int_{\Omega} f(x) dx = 0$ , subsequently, we establish the foundation for discussing the long time behaviour of solutions [11,4] and established the convergence results. In Section 7, we look at a precise result on how the flow evolves as  $t \to \infty$  in some specific circumstances.

#### 2. Preliminaries and the model

In this section, we describe the energy density  $W_{\lambda}$  in (1.1) which we will use throughout this paper.

**Definition 2.1.** Let  $W: M^{N \times n} \to \mathbb{R}$  be a continuous function. The following are some conditions related to weak lower semicontinuity of the integral  $I(u) = \int_{\Omega} W(Du(x)) dx$ :

(i) *W* is *rank-one convex* if for any  $N \times n$  matrix *P*, any rank one matrix  $B = a \otimes b = (a_i b_j)$  and any real number  $s \in [0, 1]$ , we have

$$W(P + sB) \leq sW(P + a \otimes b) + (1 - s)W(P).$$

(ii) *W* is *quasiconvex* at the constant matrix  $P \in M^{N \times n}$  if for a given, non-empty bounded open set  $\Omega \subset R^n$  and every  $\phi \in W_0^{1,\infty}(\Omega, R^n)$ ,  $\int_{\Omega} W(P + \nabla \phi) dx \ge W(P) \operatorname{meas}(\Omega)$ . *W* is quasiconvex if it is quasiconvex at every  $A \in M^{N \times n}$ . The class of quasiconvex functions is independent of the choice of  $\Omega$ .

It is well known that (ii) implies (i), while (i) does not imply (ii) (cf. [2,16,6,19]).

For quadratic forms on  $M^{N \times n}$ , the two definitions (i) and (ii) in Definition 2.1 are the same.

For a continuous function  $W: M^{N \times n} \to \mathbb{R}$  that is bounded from below, we may define its quasiconvex envelop (cf. [6]) as the largest quasiconvex function less than or equal to W. More precisely,  $QW = \sup\{G \leq W, G \text{ quasiconvex}\}$ . Similarly, the convex envelop of f is  $CW = \sup\{G \leq W, G \text{ convex}\}$ .

The following is the ellipticity condition which was first introduced in [22] to prove the existence of weak solution for elliptic systems [10], and in [9] for the partial regularity property for weak solutions. From now on, we use the summation convention for repeated indices with I from 1 to N and  $\mu$  from 1 to n.

**Definition 2.2.** A continuous mapping  $B: M^{N \times n} \to M^{N \times n}$  is strongly quasimonotone if for every constant matrix  $P \in M^{N \times n}$ , every bounded open set  $\Omega \subset \mathbb{R}^n$  and every  $\phi \in W_0^{1,\infty}(\Omega, \mathbb{R}^N)$ ,

$$\int_{\Omega} B^{i}_{\alpha}(P + \nabla\phi) D_{\alpha} \phi^{i}(x) \, \mathrm{d}x \ge c_{0} \int_{\Omega} |\nabla\phi|^{2} \, \mathrm{d}x$$

where  $c_0 > 0$  is a constant independent of *P*,  $\Omega$  and  $\phi$ .

If under above notation assumptions, we have only

$$\int_{\Omega} B(P + \nabla \phi) : \nabla \phi \, \mathrm{d}x \ge 0$$

then the mapping B is called quasimonotone.

When  $B(P) = \nabla W(P)$  for some scalar valued W, if B(P) is strongly quasimonotone (respectively, quasimonotone), we call  $\nabla W$  a strongly quasimonotone (respectively, quasimonotone) gradient mapping.

It is easy to check that convex functions and rank-one convex quadratic forms give gradient quasimonotone mappings.

Now we introduce our model double-well integrands  $W_{\lambda}$  and show that  $W_{\lambda} = G_{\lambda} + H_{\lambda}$  where  $G_{\lambda}$  is convex and  $H_{\lambda}$  is a rank-one convex quadratic form, which implies that  $\nabla W_{\lambda}$  is quasimonotone.

Let  $A \in M^{N \times n}$  be a given matrix with rank(A) > 1, |A| = 1. Let E = span[A] and  $K = \{-A, A\}$ ,  $C_E$  denote the convexification operation on the one-dimensional space E,  $P_E$  be the standard Euclidean projection operator onto E such that for any given arbitrary  $N \times n$  matrix X:  $P_E(X) = (X \cdot A)A = (\sum_{i,j} X_{ij}A_{ij})A$ . Sometimes, where the circumstance is clear, we may also use the notation  $P_E(X)$  for the scalar quantity  $X \cdot A$ . Subsequently, we have  $P_{E^{\perp}}(X) = X - P_E(X)$ . Let  $\lambda_0$  be the largest eigenvalue of  $A^T A$ . From |A| = 1, we know that  $0 < \lambda_0 \leq 1$ . We define

$$W_{\lambda}(X) = C_E \left( \operatorname{dist}^2 \left( P_E(X), K \right) + \lambda \left| P_E(X) \right|^2 \right) + H_{\lambda}(X) = G_{\lambda}(X) + H_{\lambda}(X),$$
  

$$H_{\lambda}(X) = \left| P_{E^{\perp}}(X) \right|^2 - \lambda \left| P_E(X) \right|^2$$
(2.1)

where

$$0 \leqslant \lambda \leqslant \lambda^* = \frac{1 - \lambda_0}{\lambda_0}.$$
(2.2)

It is easy to check that under our assumptions, for each fixed  $\lambda$  satisfying  $0 \le \lambda \le \lambda^*$ , the function  $H_{\lambda}(X)$  defined on  $M^{N \times n}$  is a rank-one convex quadratic form, so is quasiconvex. Furthermore,  $\nabla H_{\lambda}(X)$  is strongly quasimonotone when  $0 \le \lambda < \lambda^*$ .

If f(t) is a continuous function on the real line, we denote by Cf(t) the convexification of f. In the case of  $G(P_E(X))$ , it is a continuous function defined on E. Let g(t) = G(tA),  $t \in \mathbb{R}$ . We define the convexification of  $G(P_E(X))$  on E as

$$C_E G(P_E(X)) = Cg(X \cdot A).$$

It can be verified that

$$G_{\lambda}(X) = G_{\lambda}(P_E(X)) = f_{\lambda}(X \cdot A)$$

where

$$f_{\lambda}(t) = \begin{cases} (t+1)^2 + \lambda t^2, & t \leq -\frac{1}{1+\lambda}, \\ \frac{\lambda}{1+\lambda}, & |t| \leq \frac{1}{1+\lambda}, \\ (t-1)^2 + \lambda t^2, & t \geq \frac{1}{1+\lambda} \end{cases}$$

for  $0 < \lambda \leq \lambda^*$ . Since *f* is an explicit function, we can easily verify that there is a constant *C* > 0 such that for all  $0 < \lambda \leq \lambda^*$  and *t*,  $s \in \mathbb{R}$ ,

$$\left(f_{\lambda}'(t) - f_{\lambda}'(s)\right)^2 \leqslant C\left(f_{\lambda}'(t) - f_{\lambda}'(s)\right)(t-s).$$

$$(2.3)$$

The function  $W_{\lambda}$  defined below are our model integrands (cf. [24]).

**Remark 2.1.** Our discussion also works for matrices A that  $|A| \neq 1$ . In this case, we need to introduce  $A_0 = A/|A|$  and the corresponding projection operators will need to be modified. To avoid unnecessary complication of notation, we use A with unit modulus.

**Proposition 2.1.** Let  $W_{\lambda}$  be as in (2.1) with  $0 \leq \lambda \leq \lambda^*$ . Then

- (1)  $W_{\lambda}(X)$  is quasiconvex. Furthermore, when  $\lambda = \lambda^*$ ,  $W_{\lambda}(X) = Q \operatorname{dist}^2(X, K)$  and when  $\lambda = 0$ ,  $W_{\lambda}(X) = C \operatorname{dist}^2(X, K)$  for all  $X \in M^{N \times n}$ .
- (2) For  $0 \leq \lambda \leq \tau \leq \lambda^*$ ,  $W_{\lambda}(X) \leq W_{\tau}(X)$ .

3) For 
$$0 < \lambda \leq \lambda^*$$
,  
 $\frac{\lambda}{1+\lambda} \operatorname{dist}^2(X, K) \leq W_{\lambda}(X) \leq \operatorname{dist}^2(X, K)$   
for all  $X \in M^{N \times n}$ 

- (4) For  $0 < \lambda < \lambda^*$ ,  $\nabla W_{\lambda}(X)$  is strongly quasimonotone, while  $\nabla W_{\lambda^*}(X)$  is quasimonotone.
- (5) For  $0 < \lambda \leq \lambda^*$ , we have  $W_{\lambda}(X) = 0$  if and only if X = A or X = -A. Furthermore, when  $dist(X, K) < \lambda/(1+\lambda)$ ,  $W_{\lambda}(X) = dist^2(X, K)$ .
- (6) There are positive constants  $c_0$ ,  $C_0$  and  $c_1$  depending on |A| and  $\lambda$  such that

 $c_0(|X|^2-1) \leq W_{\lambda}(X) \leq C_0(|X|^2+1), \qquad \nabla W_{\lambda}(X) : X \geq c_1(|X|^2-1)$ 

for  $0 \leq \lambda \leq \lambda^*$ .

(7)  $\nabla W_{\lambda}(X)$  is a global Lipschitz function:

$$\left|\nabla W_{\lambda}(X) - \nabla W_{\lambda}(Y)\right| \leq C_0 |X - Y|$$

for all  $X, Y \in M^{N \times n}$ .

Let  $I \in M^{2 \times 2}$  be the identity matrix,

$$X = \begin{pmatrix} X_{11} & X_{12} \\ X_{21} & X_{22} \end{pmatrix} \in M^{2 \times 2}$$
 be an arbitrarily given matrix.

An example of  $W_{\lambda}$  for  $K = \{-\frac{1}{\sqrt{2}}I, \frac{1}{\sqrt{2}}I\}$  is

$$W_{\lambda}(X) = f_{\lambda}\left(\frac{1}{\sqrt{2}}(X_{11} + X_{22})\right) + H_{\lambda}(X)$$

with  $0 < \lambda \leq \sqrt{2} - 1 = \lambda^*$ . Note that in this special case,  $\lambda_0 = 1/\sqrt{2}$ . If we restrict  $W_{\lambda}$  to the one-dimensional subspace E = span[A], then

$$W_{\lambda}(tA) = f_{\lambda}(t) - \lambda t^{2} = \begin{cases} (t+1)^{2}, & t \leq \frac{1}{1+\lambda}, \\ \frac{\lambda}{1+\lambda} - \lambda t^{2}, & |t| \leq \frac{1}{1+\lambda}, \\ (t-1)^{2}, & t \geq \frac{1}{1+\lambda}. \end{cases}$$

Therefore, along E,  $W_{\lambda}$  has a double well structure.

Finally, we state the following result that is a special case of a general theorem due to J. Krestensen [15].

**Proposition 2.2.** Suppose  $\Omega \subset \mathbb{R}^n$  is bounded and smooth, and  $u_j \to u$  in  $W^{1,p}(\Omega)$  where  $1 . Then there are two bounded sequences <math>(v_j)$  in  $W^{1,p}(\Omega)$  and  $(w_j)$  in  $W^{1,p}_0(\Omega)$  such that  $u_j - u_0 = v_j + w_j$ , and up to a subsequence

- (i)  $\nabla v_i \rightarrow 0$  almost everywhere in  $\Omega$ ,
- (ii)  $w_j \rightarrow 0$  in  $W_0^{1,p}(\Omega)$  and  $|\nabla w_j|^p$  is equi-integrable on  $\Omega$ .

## 3. The discretized problem

We discretize the problem and try to solve, for any  $\phi \in H^1(\Omega)$  and m = 1, 2, ...,

$$\int_{\Omega} \frac{u_m - u_{m-1}}{\Delta t} \cdot \phi \, \mathrm{d}x + \int_{\Omega} \nabla W_\lambda(\nabla u_m) : \nabla \phi \, \mathrm{d}x - \int_{\Omega} f(x) \cdot \phi \, \mathrm{d}x = 0,$$

$$u_0 = u^0.$$
(3.1)

**Theorem 3.1.** Let  $W_{\lambda}$  be given as in (2.1), f be given in  $L^2(\Omega)$ , then the following minimization problem

$$\inf_{u_m \in H^1(\Omega)} \int_{\Omega} \left( \frac{1}{2\Delta t} \left( |u_m|^2 - 2u_m \cdot u_{m-1} \right) + W_{\lambda}(\nabla u_m) - f \cdot u_m \right) \mathrm{d}x \tag{3.2}$$

admits at least one solution in  $H^1(\Omega)$ .

**Proof.** Because of the estimate in Proposition 2.1(6), the growth condition required by [1] is satisfied, we also know that by Proposition 2.1(1),  $W_{\lambda}$  is quasiconvex, hence we can use the main result of [1] to conclude the existence of an energy minimizer.

Due to the growth condition satisfied by  $W_{\lambda}$ , the energy minimizers lie in the space  $H^1(\Omega)$ .  $\Box$ 

**Corollary 3.1.** The energy minimizers of (3.2) solves the variational equality (3.1).

**Proof.** (3.1) is the Euler–Lagrange equation of (3.2).  $\Box$ 

## 4. A priori estimates independent of discretization

For technicalities, we should restrict to a bounded time interval (0, T) in the first place and then extend the result to  $(0, \infty)$ . To simplify the argument, we only deal with the solutions  $\{u_m\}$  obtained by minimization method.

**Proposition 4.1.** Let  $\{u_m\}$  be the sequence of solutions obtained by minimizing energies defined in (3.2), we have, for some constant *C* depending only on the initial data,

$$\sup_{m} \int_{\Omega} \left( \frac{1}{2} \frac{|u_m - u_{m-1}|^2}{\Delta t} + W_{\lambda}(\nabla u_m) + f \cdot u_m \right) \mathrm{d}x \leqslant C$$
(4.1)

and

$$\sum_{m} \int_{\Omega} \frac{|u_m - u_{m-1}|^2}{(\Delta t)^2} \Delta t \leqslant C(T+1).$$

$$(4.2)$$

**Proof.** First, from the definition of the energy minimizers, we obtain, for any *m*,

$$\begin{split} \int_{\Omega} \left( \frac{1}{2} \frac{|u_m - u_{m-1}|^2}{\Delta t} + W_{\lambda}(\nabla u_m) + f \cdot u_m \right) \mathrm{d}x &= \inf_{u \in H^1(\Omega)} \int_{\Omega} \left( \frac{1}{2} \frac{|u - u_{m-1}|^2}{\Delta t} + W_{\lambda}(\nabla u) + f \cdot u \right) \mathrm{d}x \\ &\leq \int_{\Omega} \left( \frac{1}{2} \frac{|u - u_{m-1}|^2}{\Delta t} + W_{\lambda}(\nabla u) + f \cdot u \right) \mathrm{d}x|_{u = u_{m-1}} \\ &= \int_{\Omega} \left( W_{\lambda}(\nabla u_{m-1}) + f \cdot u_{m-1} \right) \mathrm{d}x \\ &\leq \int_{\Omega} \left( \frac{1}{2} \frac{|u_{m-1} - u_{m-2}|^2}{\Delta t} + W_{\lambda}(\nabla u) + f \cdot u \right) \mathrm{d}x \end{split}$$

$$\stackrel{!}{\leq} \int_{\Omega} \left( W_{\lambda}(\nabla u_0) + f \cdot u_0 \right) \mathrm{d}x.$$

This implies (4.1). Furthermore, since the energy minimizers satisfy the Euler–Lagrange equation (3.1), by choosing  $\phi = (u_m - u_{m-1})/\Delta t$ , we have, for some constant C

$$0 = \sum_{m} \Delta t \int_{\Omega} \left( \left| \frac{u_m - u_{m-1}}{\Delta t} \right|^2 + \nabla W_{\lambda} (\nabla u_m) : \nabla \frac{u_m - u_{m-1}}{\Delta t} + f \cdot \frac{u_m - u_{m-1}}{\Delta t} \right)$$
$$\geq \sum_{m} \Delta t \int_{\Omega} \left( \nabla W_{\lambda} (\nabla u_m) : \nabla \frac{u_m - u_{m-1}}{\Delta t} + \frac{1}{2} \left| \frac{u_m - u_{m-1}}{\Delta t} \right|^2 \right) dx - CT.$$

To study the term

$$\sum_{m} \Delta t \int_{\Omega} \nabla W_{\lambda}(\nabla u_{m}) : \nabla \frac{u_{m} - u_{m-1}}{\Delta t} \, \mathrm{d}x,$$

we introduce the following functions

$$U_{N}(x,t) = u_{m}(x) \quad \text{when } t \in (t_{m-1}, t_{m}], \ m = 0, \dots, N,$$

$$Y_{N}(x,t) = \frac{t - (m-1)\Delta t}{\Delta t} u_{m}(x) + \left(1 - \frac{t - (m-1)\Delta t}{\Delta t}\right) u_{m-1}(x)$$
when  $t \in (t_{m-1}, t_{m}], \ m = 1, \dots, N$ 
(4.3)
(4.4)

where  $N = \frac{T}{\Delta t}$  is assumed to be an integer. Then we have

$$\begin{split} \sum_{m} \Delta t \int_{\Omega} \nabla W_{\lambda}(\nabla u_{m}) &: \nabla \frac{u_{m} - u_{m-1}}{\Delta t} \, \mathrm{d}x \\ &= \sum_{m} \Delta t \int_{\Omega} \nabla W_{\lambda}(\nabla U_{N}) : \nabla \frac{u_{m} - u_{m-1}}{\Delta t} \, \mathrm{d}x \\ &= \sum_{m} \Delta t \int_{\Omega} \nabla \left( W_{\lambda}(\nabla U_{N}) - W_{\lambda}(\nabla Y_{N}) + W_{\lambda}(\nabla Y_{N}) \right) : \nabla \frac{u_{m} - u_{m-1}}{\Delta t} \, \mathrm{d}x \\ &\geq -\sum_{m} \Delta t \int_{\Omega} \left| \nabla (u_{m} - u_{m-1}) \right|^{2} \, \mathrm{d}x + \int_{0}^{T} \int_{\Omega} \nabla W_{\lambda}(\nabla Y_{N}) : \nabla \frac{\partial Y_{N}}{\partial t} \, \mathrm{d}x \\ &\geq -CT - 1. \end{split}$$

Summarizing, we easily deduce (4.2). The proof of the proposition is finished.  $\Box$ 

# 5. Convergence

We now have, for any  $\phi \in L^2(0, T; H^1(\Omega))$ , notice that  $u_0 = u^0$ ,

$$\sum_{m} \int_{t_{m-1}}^{t_m} \mathrm{d}t \int_{\Omega} \left( \frac{u_m - u_{m-1}}{\Delta t} \cdot \phi + \nabla W_\lambda(\nabla u_m) : \nabla \phi - f(x) \cdot \phi \right) \mathrm{d}x = 0.$$
(5.1)

Because of the estimates obtained in the previous section, we conclude that both  $\{U_N\}$  and  $\{Y_N\}$  admit common subsequences still denoted by  $\{U_N\}$  and  $\{Y_N\}$  such that (by  $N \to \infty$  we mean  $\Delta t \to 0$ )

 $U_N \to u$  and  $Y_N \to u$  as  $N \to \infty$ .

The convergence is strong in  $L^2(\Omega \times (0, t))$ , weak-\* in  $L^{\infty}(0, T; L^2(\Omega))$  and weak in  $L^2(0, T; H^1(\Omega))$ . In addition,  $\{Y_N\}$  converges weakly in  $H^1(\Omega \times (0, T))$ .

Moreover, we know that

$$\|U_N - Y_N\|_{L^2(0,T;H^1(\Omega))} \to 0 \quad \text{as } N \to \infty,$$

$$\frac{u_m - u_{m-1}}{\Delta t} = \partial_t Y_N \quad \text{on } ((m-1)\Delta t, m\Delta t).$$
(5.2)
(5.3)

Using the results from [14,15,23] and the discussions above, we know that

$$U_N = Y_N + (U_N - Y_N) = u + v_N + w_N + (U_N - Y_N)$$

where

- (i)  $v_N$  is bounded in  $H^1(\Omega \times (0, T)), \nabla v_N \to 0$  almost everywhere in  $\Omega \times (0, T)$ .
- (ii)  $w_N$  is bounded in  $H_0^1(\Omega \times (0,T))$ ,  $w_N \to 0$  in  $H_0^1(\Omega \times (0,T))$  and  $|\nabla w_N|^2 + |\partial_t w_N|^2$  is equi-integrable on  $\Omega \times (0,T)$ .
- (iii)  $U_N V_N$  converges strongly in  $L^2(0, T; H^1(\Omega))$ .

In order to prove that there is a solution, we need to show that  $\nabla v_N + \nabla w_N$  tends to 0 strongly in  $L^2(\Omega \times (0, T))$ . To achieve this, choose  $\phi = v_N + w_N + (U_N - Y_N)$  in (5.1), we obtain

$$\int_{0}^{T} dt \int_{\Omega} \left( \frac{\partial V_N}{\partial t} \cdot \left( v_N + w_N + (U_N - Y_N) \right) + \nabla W_\lambda (\nabla U_N) : \nabla \left( v_N + w_N + (U_N - Y_N) \right) - f(x) \cdot \left( v_N + w_N + (U_N - Y_N) \right) \right) dx = 0.$$

Take the limit  $N \to \infty$ , from what we know, it is easy to conclude that

$$\lim_{N \to \infty} \int_{0}^{T} \mathrm{d}t \int_{\Omega} \nabla W_{\lambda} \Big( \nabla u + \nabla \big( v_N + w_N + (U_N - Y_N) \big) \Big) : \nabla (v_N + w_N) \, \mathrm{d}x = 0.$$
(5.4)

Using the fact that  $\nabla W_{\lambda}$  is Lipschitz and that  $\nabla (U_N - Y_N)$  converges strongly in  $L^2(\Omega \times (0, T))$ , we have

$$\lim_{N \to \infty} \int_{0}^{T} \mathrm{d}t \int_{\Omega} \nabla W_{\lambda} (\nabla u + \nabla (v_N + w_N)) : \nabla (v_N + w_N) \, \mathrm{d}x = 0.$$
(5.5)

From here, we can show that  $\nabla(v_N + w_N) \rightarrow 0$  in  $L^2(\Omega \times (0, T))$ :

Recall that

$$W_{\lambda}(X) = C_E(\operatorname{dist}^2(P_E(X), \{-A, A\}) + \lambda |P_E(X)|^2) + H_{\lambda}(X)$$
  
=  $G_{\lambda}(X) + H_{\lambda}(X),$ 

which is the sum of a convex function of quadratic growth and a rank-one convex quadratic form. Due to convexity, we know that

$$(\nabla G_{\lambda}(X) - \nabla G_{\lambda}(Y)): (X - Y) \ge 0$$
 for all  $X, Y \in M^{2 \times 2}$ .

From the property of decomposition, we know that  $\nabla u \in L^2(\Omega \times (0, T))$  and  $|\nabla w_N|^2$  equi-integrable, so for any  $\mu > 0$ , there is  $0 < \delta < \mu$  such that for any measurable set  $F \subset \Omega \times (0, T)$  with meas  $F < \delta$ , we have

$$\int_{F} |\nabla u|^2 \, \mathrm{d}x \, \mathrm{d}t \leqslant \mu, \qquad \int_{F} |\nabla w_N|^2 \, \mathrm{d}x \, \mathrm{d}t \leqslant \mu$$

Since  $\nabla v_N \to 0$  almost everywhere, using Egorov's Theorem that for every  $\delta > 0$ , there is a measurable subset  $E_1 \subset \Omega \times (0, T)$  with meas  $E_1 < \delta$  such that  $\nabla v_N \to 0$  uniformly on  $(\Omega \times (0, T)) \setminus E_1$  as  $j \to \infty$ . Therefore, we have (where  $Q = \Omega \times (0, T)$ )

$$\int_{Q} \nabla W_{\lambda} (\nabla u + \nabla v_N + \nabla w_N) : (\nabla v_N + \nabla w_N) \, dx \, dt$$
  
= 
$$\int_{Q \setminus E_1} + \int_{E_1} (\nabla W_{\lambda} (\nabla u + \nabla v_N + \nabla w_N) : (\nabla v_N + \nabla w_N)) \, dx \, dt$$
  
= 
$$A_N + B_N.$$

We estimate  $A_N$  first

$$A_{N} = \int_{Q \setminus E_{1}} \nabla W_{\lambda} (\nabla u + \nabla v_{N} + \nabla w_{N}) : (\nabla v_{N} + \nabla w_{N}) \, dx \, dt$$
  
$$= \int_{Q \setminus E_{1}} \left( \nabla W_{\lambda} (\nabla u + \nabla v_{N} + \nabla w_{N}) - \nabla W_{\lambda} (\nabla u) \right) : (\nabla v_{N} + \nabla w_{N}) \, dx \, dt$$
  
$$+ \int_{Q \setminus E_{1}} \nabla W_{\lambda} (\nabla u) : (\nabla v_{N} + \nabla w_{N}) \, dx \, dt$$
  
$$= A_{N}^{(1)} + A_{N}^{(2)}.$$

It is easy to see that

$$A_N^{(2)} \to 0 \quad \text{as } N \to \infty.$$

Using the facts that  $\nabla H_{\lambda}$  is linear and  $G_{\lambda}$  is convex, we have

$$\begin{split} A_N^{(1)} &= \int\limits_{Q\setminus E_1} \left( \nabla W_\lambda (\nabla u + \nabla v_N + \nabla w_N) - \nabla W_\lambda (\nabla u) \right) : (\nabla v_N + \nabla w_N) \, dx \, dt \\ &= \int\limits_{Q\setminus E_1} \left( \nabla G_\lambda (\nabla u + \nabla v_N + \nabla w_N) - \nabla G_\lambda (\nabla u) \right) : (\nabla v_N + \nabla w_N) \, dx \, dt \\ &+ \int\limits_{Q\setminus E_1} \left( \nabla H_\lambda (\nabla u + \nabla v_N + \nabla w_N) - \nabla H_\lambda (\nabla u) \right) : (\nabla v_N + \nabla w_N) \, dx \, dt \\ &\geq \int\limits_{Q\setminus E_1} \left( \nabla H_\lambda (\nabla u + \nabla v_N + \nabla w_N) - \nabla H_\lambda (\nabla u) \right) : (\nabla v_N + \nabla w_N) \, dx \, dt \\ &= \int\limits_{Q\setminus E_1} \nabla H_\lambda (\nabla u + \nabla v_N + \nabla w_N) : (\nabla v_N + \nabla w_N) \, dx \, dt - \int\limits_{Q\setminus E_1} \nabla H_\lambda (\nabla u) : (\nabla v_N + \nabla w_N) \, dx \, dt \\ &= \int\limits_{Q\setminus E_1} \left[ \nabla H_\lambda (\nabla u + \nabla v_N + \nabla w_N) : \nabla v_N + \nabla H_\lambda (\nabla u + \nabla v_N) : \nabla w_N \\ &- \nabla H_\lambda (\nabla u) : \nabla (v_N + w_N) \right] \, dx \, dt + \int\limits_{Q\setminus E_1} \nabla H_\lambda (\nabla w_N) : \nabla w_N \, dx \, dt \\ &= C_N^{(1)} + C_N^{(2)} \end{split}$$

where

$$\int_{Q\setminus E_1} \nabla H_{\lambda}(\nabla u + \nabla v_N + \nabla w_N) : \nabla v_N \, \mathrm{d}x \, \mathrm{d}t \to 0, \quad \text{as } N \to \infty$$

because  $\nabla v_N \to 0$  uniformly in  $\Omega \setminus E_1$  and  $|\nabla H_{\lambda}(\nabla u + \nabla v_N + \nabla w_N)|$  is bounded in  $L^2(Q)$ ;

$$\lim_{N \to \infty} \int_{Q \setminus E_1} \nabla H_{\lambda} (\nabla u + \nabla v_N) : \nabla w_N \, \mathrm{d}x \, \mathrm{d}t = 0$$

because  $\nabla H_{\lambda}(\nabla u + \nabla v_N) \rightarrow \nabla H_{\lambda}(Du)$  strongly in  $L^2(\Omega \setminus E_1)$  as  $N \rightarrow \infty$  and  $\nabla w_N \rightharpoonup 0$  in  $L^2(\Omega)$ ;

$$\lim_{N \to \infty} \int_{Q \setminus E_1} \nabla H_{\lambda}(\nabla u) : \nabla (v_N + w_N) \, \mathrm{d}x \, \mathrm{d}t = 0$$

because  $\nabla(v_N + w_N) \rightarrow 0$  in  $L^2(Q)$ . Hence

$$C_N^{(1)} \to 0$$

as  $N \to \infty$ . To study the convergence of  $C_N^{(2)}$ , we study two cases: *Case I:*  $\lambda < \lambda^*$ . Using the fact that  $\nabla H_{\lambda}(X) : X = 2H_{\lambda}(X)$ , we have

$$C_N^{(2)} = \int_{Q \setminus E_1} \nabla H_\lambda(\nabla w_N) : \nabla w_N \, dx \, dt$$
  
=  $\int_{Q \setminus E_1} 2H_\lambda(\nabla w_N) \, dx \, dt$   
=  $\int_Q 2H_\lambda(\nabla w_N) \, dx \, dt - \int_{E_1} 2H_\lambda(\nabla w_N) \, dx \, dt$   
 $\geqslant 2\varepsilon_0 \int_Q |\nabla w_N|^2 \, dx \, dt - 2C_0 \int_{E_1} (1 + |\nabla w_N|^2) \, dx \, dt$   
 $\geqslant 2\varepsilon_0 \int_Q |\nabla w_N|^2 \, dx \, dt - 4C_0 \mu.$ 

Here  $\varepsilon_0$  is defined such that  $\lambda = (1 - \lambda_0 - \varepsilon_0)/\lambda_0$  as discussed in Proposition 2.1 and  $C_0$  is as defined in Proposition 2.1(6).

Consequently, we obtain

$$A_N \ge 2\varepsilon_0 \int_{\Omega} |\nabla w_N|^2 \,\mathrm{d}x + A_N^{(2)} + C_N^{(1)} - 4C_0\mu$$
(5.6)

where  $A_N^{(2)} + C_N^{(1)} \to 0$  as  $N \to \infty$ . Now we estimate  $B_N$ .

$$B_{N} = \int_{E_{1}} \nabla W_{\lambda} (\nabla u + \nabla v_{N} + \nabla w_{N}) : (\nabla v_{N} + \nabla w_{N}) \, dx \, dt$$
  
$$= \int_{E_{1}} \nabla W_{\lambda} (\nabla u + \nabla v_{N} + \nabla w_{N}) : (\nabla u + \nabla v_{N} + \nabla w_{N}) \, dx \, dt - \int_{E_{1}} \nabla W_{\lambda} (\nabla u + \nabla v_{N} + \nabla w_{N}) : \nabla u \, dx \, dt$$
  
$$\ge c_{1} \int_{E_{1}} \left( \left| \nabla (u + v_{N} + w_{N}) \right|^{2} - 1 \right) - C_{1} \int_{E_{1}} \left( 1 + \left| \nabla (u + v_{N} + w_{N}) \right| \right) |\nabla u| \, dx \, dt$$

$$\geq \frac{c_1}{2} \int_{E_1} |\nabla v_N|^2 \, \mathrm{d}x \, \mathrm{d}t - c_1 \int_{E_1} \left( |\nabla u| + |\nabla w_N| \right)^2 \, \mathrm{d}x \, \mathrm{d}t - \mu$$
$$- C_1 \sqrt{\int_{\Omega} \left( 1 + |\nabla u + \nabla v_N + \nabla w_N| \right)^2 \, \mathrm{d}x \, \mathrm{d}t} \sqrt{\int_{E_1} |\nabla u|^2 \, \mathrm{d}x \, \mathrm{d}t}$$
$$\geq \frac{c_1}{2} \int_{E_1} |\nabla v_N|^2 \, \mathrm{d}x \, \mathrm{d}t - C_4 \sqrt{\mu}.$$

This leads to

$$\int_{Q} \nabla W_{\lambda} \left( \nabla u + \nabla (v_N + w_N) \right) : \nabla (v_N + w_N) \, \mathrm{d}x \, \mathrm{d}t$$

$$\geq 2\varepsilon_0 \int_{Q} |\nabla w_N|^2 \, \mathrm{d}x \, \mathrm{d}t + D_N - 4C_0 \mu + \frac{c_1}{2} \int_{E_1} |\nabla v_N|^2 \, \mathrm{d}x \, \mathrm{d}t - C_4 \sqrt{\mu}, \tag{5.7}$$

where  $\int_Q \nabla W_\lambda (\nabla u + \nabla (v_N + w_N)) : \nabla (v_N + w_N) \, dx \, dt \to 0$ ,  $D_N = C_N^{(1)} + A_N^{(2)} \to 0$ . Consequently, for sufficiently large N, we have

$$2\varepsilon_0 \int_Q |\nabla w_N|^2 \,\mathrm{d}x \,\mathrm{d}t + \frac{c_1}{2} \int_{E_1} |\nabla v_N|^2 \,\mathrm{d}x \,\mathrm{d}t \leqslant C_5 \sqrt{\mu}.$$
(5.8)

This implies that  $\nabla w_N \to 0$  strongly in  $L^2(Q, M^{N \times n})$  as  $N \to \infty$  and  $|\nabla v_N|^2$  is equi-integrable on  $\Omega$ . Therefore  $\nabla (v_N + w_N) \to 0$  as  $N \to \infty$ . So  $v_N + w_N$  converges strongly to 0 in  $L^2(0, T; H^1(\Omega))$ .

Therefore, we can take the limit in (5.1) to get a solution of (0.1).

*Case II:* We now have  $\lambda = \lambda^*$ . To simplify notation, we still use  $\lambda$  in the text. Since  $\nabla H_{\lambda}(X) : X = 2H_{\lambda}(X)$  and  $\nabla H_{\lambda}(X)$  is only quasimonotone, parallel to Case I, we get

$$C_{N}^{(2)} = \int_{Q\setminus E_{1}} \nabla H_{\lambda}(\nabla w_{N}) : \nabla w_{N} \, \mathrm{d}x \, \mathrm{d}t$$
  
$$= \int_{Q} 2H_{\lambda}(\nabla w_{N}) \, \mathrm{d}x \, \mathrm{d}t - \int_{E_{1}} 2H_{\lambda}(\nabla w_{N}) \, \mathrm{d}x \, \mathrm{d}t$$
  
$$\geqslant -2C_{0} \int_{E_{1}} \left(1 + |\nabla w_{N}|^{2}\right) \, \mathrm{d}x \, \mathrm{d}t \geqslant -4C_{0}\mu.$$
(5.9)

This is because the constant  $\varepsilon_0$  in Case I is now 0, while  $C_0 > 0$  is given by Proposition 2.1(6). Subsequently, (5.6) becomes

$$A_N \geqslant D_N - 4C_0\mu \tag{5.10}$$

where  $D_N = A_N^{(2)} + C_N^{(1)} \rightarrow 0$ . It is easy to see that estimate of  $B_N$  in Case I still holds, we obtain

$$B_{N} = \int_{E_{1}} \nabla W_{\lambda} (\nabla u + \nabla (v_{N} + w_{N})) : \nabla (v_{N} + w_{N}) \, dx \, dt$$
  
$$= \int_{E_{1}} \nabla W_{\lambda} (\nabla u + \nabla (v_{N} + w_{N})) : (\nabla u + \nabla (v_{N} + w_{N})) \, dx \, dt - \int_{E_{1}} \nabla W_{\lambda} (\nabla u + \nabla (v_{N} + w_{N})) : \nabla u \, dx \, dt$$
  
$$\geq \frac{c_{1}}{2} \int_{E_{1}} |\nabla v_{N}|^{2} \, dx \, dt - C_{4} \sqrt{\mu}, \qquad (5.11)$$

hence

$$\int_{Q} \nabla W_{\lambda} \left( \nabla u + \nabla (v_N + w_N) \right) : \nabla (v_N + w_N) \, \mathrm{d}x \, \mathrm{d}t \ge D_N - 4C_0 \mu + \frac{c_1}{2} \int_{E_1} |\nabla v_N|^2 \, \mathrm{d}x \, \mathrm{d}t - C_4 \sqrt{\mu} \tag{5.12}$$

where  $\int_{Q} \nabla W_{\lambda}(\nabla u + \nabla (v_N + w_N)) : \nabla (v_N + w_N) \, dx \, dt \to 0, D_N \to 0$ . Consequently, for sufficiently large j > 0, we have

$$\frac{c_1}{2} \int\limits_{E_1} |\nabla v_N|^2 \,\mathrm{d}x \,\mathrm{d}t \leqslant C_5 \sqrt{\mu},\tag{5.13}$$

therefore  $|\nabla v_N|^2$  is equi-integrable on  $\Omega$  which implies that  $\nabla v_N \to 0$  in  $L^2(Q)$  strongly. Therefore  $\nabla (v_N + w_N) \rightharpoonup 0$  weakly in  $L^2(Q)$  as  $N \to \infty$  and is equi-integrable on Q.

From now on, we write  $W_{\lambda^*}(X) = G(P_A(X)) + H(X)$  with  $G_{P_A}(X) = G_{\lambda^*}(X)$  and  $H(X) = H_{\lambda^*}(X)$ .

Since  $\phi_N = v_N + w_N$  as given above, we see that  $\nabla v_N \to 0$  in  $L^2$ ,  $|\nabla w_N|^2$  is equi-integrable in Q,  $\nabla w_N \to 0$  and  $w_N = 0$  on  $\partial Q$ . We also have

$$\int_{Q} \nabla G \left( P_A (\nabla u + \nabla \phi_N) \right) : P_A (\nabla \phi_N) \, \mathrm{d}x \, \mathrm{d}t + \int_{Q} \nabla H (\nabla u + \nabla \phi_N) : \nabla \phi_N \, \mathrm{d}x \, \mathrm{d}t = t_N \to 0, \tag{5.14}$$

as  $N \to \infty$ . We have in (5.14) that

$$\int_{Q} \nabla H(\nabla u + \nabla \phi_{N}) : \nabla \phi_{N} \, dx \, dt$$

$$= \int_{Q} \nabla H(\nabla u + \nabla v_{N} + \nabla w_{N}) : \nabla (v_{N} + w_{N}) \, dx \, dt$$

$$= 2 \int_{Q} H(\nabla w_{N}) \, dx \, dt + \int_{Q} \nabla H(\nabla u + \nabla v_{N}) : \nabla \phi_{N} \, dx \, dt + \int_{Q} \nabla H(\nabla u + \nabla \phi_{N}) : \nabla v_{N} \, dx \, dt$$

$$= 2 \int_{Q} H(\nabla w_{N}) \, dx \, dt + r_{N} \ge r_{N}, \qquad (5.15)$$

where

$$r_N = \int_Q \nabla H(\nabla u + \nabla v_N) : \nabla \phi_N \, \mathrm{d}x \, \mathrm{d}t + \int_Q \nabla H(\nabla u + \nabla \phi_N) : \nabla v_N \, \mathrm{d}x \, \mathrm{d}t \to 0$$

and

$$2\int_{Q} H(\nabla w_N) \,\mathrm{d}x \ge 0 \tag{5.16}$$

because  $w_N \in H_0^1(Q)$ , for a.e.  $t \in (0, T)$ ,  $w_N(t, \cdot) \in H_0^1(\Omega)$ . Also H is quasiconvex and H(0) = 0 hence (5.16) holds. Similarly

$$\int_{Q} H(\nabla u + \nabla \phi_N) \, \mathrm{d}x \, \mathrm{d}t = \int_{Q} H(\nabla u) \, \mathrm{d}x \, \mathrm{d}t + \int_{Q} H(\nabla w_N) \, \mathrm{d}x \, \mathrm{d}t + l_N \tag{5.17}$$

where  $l_N \rightarrow 0$ . Substituting (5.15) into (5.14), we have

$$\int_{Q} \nabla G \left( P_A (\nabla u + \nabla \phi_N) \right) : P_A (\nabla \phi_N) \, \mathrm{d}x + 2 \int_{Q} H (\nabla w_N) \, \mathrm{d}x \, \mathrm{d}t = t_N - r_N \to 0 \tag{5.18}$$

as  $N \to \infty$ . Since *G* is convex,

$$\int_{Q} \nabla G \left( P_A (\nabla u + \nabla \phi_N) \right) : P_A (\nabla \phi_N) \, \mathrm{d}x \, \mathrm{d}t \ge \int_{Q} \nabla G \left( P_A (\nabla u) \right) : P_A (\nabla \phi_N) \, \mathrm{d}x \, \mathrm{d}t \to 0$$
(5.19)

as  $N \rightarrow \infty$ . Therefore (5.16), (5.18) and (5.19) imply

$$\lim_{N \to \infty} \int_{Q} \nabla G \left( P_A (\nabla u + \nabla \phi_N) : P_A (\nabla \phi_N) \right) dx dt = 0, \qquad \lim_{N \to \infty} \int_{Q} H (\nabla w_N) dx dt = 0.$$
(5.20)

Thus from (5.17) and (5.20),

$$\lim_{N \to \infty} \int_{Q} H(\nabla u + \nabla \phi_N) \, \mathrm{d}x \, \mathrm{d}t = \int_{Q} H(\nabla u) \, \mathrm{d}x \, \mathrm{d}t.$$
(5.21)

Since G is convex,

$$\int_{Q} G(P_{A}(\nabla u + \nabla \phi_{N})) \, \mathrm{d}x \, \mathrm{d}t - \int_{Q} G(P_{A}(\nabla u)) \, \mathrm{d}x \, \mathrm{d}t \ge \int_{Q} \nabla G(P_{A}(\nabla u)) : P_{A}(\nabla \phi_{N}) \, \mathrm{d}x \, \mathrm{d}t \to 0,$$
  
$$\int_{Q} G(P_{A}(\nabla u)) \, \mathrm{d}x \, \mathrm{d}t - \int_{Q} G(P_{A}(\nabla u_{N})) \, \mathrm{d}x \, \mathrm{d}t \ge \int_{Q} \nabla G(P_{A}(\nabla u + \nabla \phi_{N})) : P_{A}(-\nabla \phi_{N}) \, \mathrm{d}x \to 0,$$

hence

$$\lim_{N \to \infty} \int_{Q} G(P_A(\nabla u + \nabla \phi_N)) \, \mathrm{d}x \, \mathrm{d}t = \int_{Q} G(P_A(\nabla u)) \, \mathrm{d}x \, \mathrm{d}t.$$
(5.22)

From (5.21) and (5.22), we obtain, as  $N \to \infty$ , that

$$\int_{Q} G(P_A(\nabla u + \nabla \phi_N)) \, \mathrm{d}x \, \mathrm{d}t + \int_{Q} H(\nabla u_N) \, \mathrm{d}x \, \mathrm{d}t + \int_{Q} f \cdot (u + \phi_N) \, \mathrm{d}x \, \mathrm{d}t$$
$$\rightarrow \int_{Q} G(P_A(\nabla u)) \, \mathrm{d}x \, \mathrm{d}t + \int_{Q} H(\nabla u) \, \mathrm{d}x \, \mathrm{d}t + \int_{Q} f \cdot u \, \mathrm{d}x \, \mathrm{d}t.$$

Now we prove that u is a solution of (0.1).

Since *H* is a quadratic form, for any test function  $\psi$ , we have

$$\int_{Q} \nabla H(\nabla u + \nabla \phi_N) : \nabla \psi \, \mathrm{d}x \, \mathrm{d}t \to \int_{Q} \nabla H(\nabla u) : \nabla \psi \, \mathrm{d}x \, \mathrm{d}t.$$

We only need to prove that

$$\int_{Q} \nabla G \left( P_A (\nabla u + \nabla \phi_N) \right) : P_A (\nabla \psi) \, \mathrm{d}x \, \mathrm{d}t \to \int_{Q} \nabla G \left( P_A (\nabla u) \right) : P_A (\nabla \psi) \, \mathrm{d}x \, \mathrm{d}t.$$
(5.23)

We also have, from Proposition 2.1 that

$$\int_{Q} \left| \nabla G \left( P_A (\nabla u + \nabla \phi_N) \right) - \nabla G \left( P_A (\nabla u) \right) \right|^2 dx dt$$
  
$$\leq C \int_{Q} \left( \nabla G \left( P_A (\nabla u + \nabla \phi_N) \right) - \nabla G \left( P_A (\nabla u) \right) \right) \cdot P_A (\nabla \phi_N) dx dt \to 0$$

as  $N \to \infty$  and (5.23) follows. Therefore, *u* is a solution of (0.1).

Furthermore, as T is arbitrary, we have proved in fact

**Theorem 5.1.** The problem (0.1) admits at least one weak solution on  $(0, \infty)$  in the following sense: for any T > 0, any  $\phi \in L^2(0, T; H^1(\Omega))$ ,

$$\begin{cases} \int_{0}^{T} \int_{\Omega} \left( u_t \cdot \phi + \nabla W_{\lambda}(\nabla u) : \nabla \phi + f \cdot \phi \right) dx dt = 0, \\ u(x, 0) = u_0(x). \end{cases}$$
(5.24)

Moreover, the energy functional

$$\int_{\Omega} \left( W_{\lambda}(\nabla u) + f(x) \cdot u \right) \mathrm{d}x \tag{5.25}$$

is a decreasing function of time.

**Proof.** The existence proof is obvious. The fact that the energy is decreasing in time can be proved by standard differentiation argument. For the proof under a more general setting, we refer to [8] for details.  $\Box$ 

**Remark 5.1.** The use of Proposition 2.1 is not essential for establishing the weak continuity of the integrals. In fact, it is possible to establish same kind of results in a much more general setting for W = G + H where G is convex and H a quadratic form under various boundedness and coercivity conditions. However, without the special form of  $G(X) = f(A \cdot X)$ , the proof is more complicated and involves the use of Young measures. We will examine more general cases later.

## 6. Long time behaviour of solutions

## 6.1. The case where $\lambda < \lambda^*$

First, we establish a general results on the existence of  $\omega$ -limit by using similar ideas explored in [4] and [20]. First, we concentrate our discussion to the case when  $\lambda < \lambda^*$ .

**Definition 6.1.** A generalized semi-flow G on X is a family of mappings  $\phi : [0, \infty) \to X$  (called solutions) satisfying

- (H1) (Existence) For each  $z \in X$ , there exists at least one  $\phi \in G$  with  $\phi(0) = z$ ;
- (H2) (Translation) If  $\phi \in G$  and  $\tau \ge 0$ , then  $\phi^{\tau}(t) = \phi(t + \tau) \in G$ ;
- (H3) (Concatenation) If  $\phi, \psi \in G, t \ge 0$  with  $\psi(0) = \phi(t)$  then  $\theta \in G$  where

$$\theta(s) = \begin{cases} \phi(s), & s \in [0, t], \\ \psi(s - t), & t < s. \end{cases}$$

(H4) (Upper-semi-continuity) If  $\phi_j \in G$  with  $\phi_j(0) \to z$ , then there exists a subsequence  $\phi_\mu$  of  $\phi_j$  and  $\phi \in G$  with  $\phi(0) = z$  such that

$$\phi_{\mu}(t) \rightarrow \phi(t)$$
 for a.e.  $t \ge 0$ .

The definition of upper-semi continuity is weaker than that found in [4] but it is enough for most application problems.

**Proposition 6.1.** The solution set established in Theorem 5.1 for all possible initial data in  $H^1(\Omega)$  defines a generalized semi-flow. **Proof.** The solutions we find in the previous section satisfy obviously (H1)–(H3). As to (H4), let  $u_j$  be a sequence of solutions obtained in Section 4, with  $u_j(0) \rightarrow z$  in  $H^1(\Omega)$  as  $j \rightarrow \infty$ , we know then  $u_j$  is bounded in  $H^1(\Omega \times (0, T))$ , up to choosing a subsequence  $u_{\mu}$ , we get

$$u_{\mu} \rightharpoonup u_{\infty} \quad \text{for some } u_{\infty} \in H^1(\Omega \times (0, T)).$$
 (6.1)

By trace theorem, we have

$$u_{\infty}(0) = z. \tag{6.2}$$

. . . .

Using the equation

$$\int_{0}^{T} \int_{\Omega} \left( u_{\mu t} \cdot \phi + \nabla W(\nabla u_{\mu}) : \nabla \phi + f \cdot \phi \right) \mathrm{d}x \, \mathrm{d}t = 0$$

we obtain

т

Т

$$\int_{0}^{1} \int_{\Omega} \left( u_{\mu t} \cdot (u_{\mu} - u_{\infty}) + \nabla W(\nabla u_{\mu}) : \nabla (u_{\mu} - u_{\infty}) + f \cdot (u_{\mu} - u_{\infty}) \right) \mathrm{d}x \, \mathrm{d}t = 0.$$

From the boundedness of  $u_{\mu t}$  in  $L^2(\Omega \times (0, T))$ , the strong convergence of  $u_{\mu}$  in  $L^2(\Omega \times (0, T))$ , we derive

$$\lim_{\mu \to \infty} \int_{0}^{T} \int_{\Omega} \nabla W(\nabla u_{\mu}) : \nabla (u_{\mu} - u_{\infty}) \, \mathrm{d}x \, \mathrm{d}t = 0.$$

Using the same proof as in Section 5, we conclude that  $u_{\infty}$  is also a solution and

 $u_{\mu} \to u_{\infty}$  in  $L^2(0, T; H^1(\Omega))$  strongly,

we obtain that  $u_{\mu}(t) \rightarrow u_{\infty}(t)$  for a.e. t > 0 in  $H^{1}(\Omega)$ .  $\Box$ 

Remark 6.1. From the weak formulation

$$\int_{0}^{1} \int_{\Omega} \left( u_t \cdot \phi + \nabla W_{\lambda}(\nabla u) : \nabla \phi + f \cdot \phi \right) dx dt = 0$$
(6.3)

for any  $\phi \in L^2(\Omega \times (0, T))$ , we know that there is a set  $K_1 \subset R_+ = (0, \infty)$  with meas $(K_1) = 0$  such that

$$\int_{\Omega} \left( u_t \cdot \phi + \nabla W_{\lambda}(\nabla u) : \nabla \phi + f \cdot \phi \right) dx = 0 \quad \text{for all } t \in R_+ \setminus K_1.$$
(6.4)

To actually discuss the long time behaviour, we have to make the following assumption to be able to improve the T dependent estimates of the solutions obtained in Section 4:

(HH)  $\int_{\Omega} f(x) dx = 0.$ 

**Remark 6.2.** (HH) can also be replaced by the assumption that  $f(x, t) \in L^2(\Omega \times (0, \infty))$  plus some additional decay conditions on *t*. However, we are not interested in the case where *f* depends on *t* at the moment.

**Theorem 6.1.** Under assumption (HH), for any given initial data  $u^0 \in H^1(\Omega)$ , there exists a weak solution of (0.1) which satisfies

$$\int_{0}^{\infty} \int_{\Omega} |u_t|^2 \,\mathrm{d}x \,\mathrm{d}t < C \tag{6.5}$$

for some constant C.

 $\mathbf{x}$ 

**Proof.** Let  $\{\phi_i\}$  be the sequence of eigenfunctions of Neumann Laplace operator on  $\Omega$ , assume that

$$u_N = \sum_{j=1}^N a_j(t)\phi_j(x)$$

solves for  $l = 1, \ldots, N$ ,

т

t

$$\dot{a}_l - \int_{\Omega} \left( \nabla W_{\lambda} \left( \sum_j a_j \nabla \phi_j \right) : \nabla \phi_l + f \cdot \phi_l \right) \mathrm{d}x = 0.$$
(6.6)

This is the Galerkin approximation of the problem and a simple computation leads to

$$\int_{0}^{j} \left(\sum_{j} |\dot{a}_{j}|^{2}\right) \mathrm{d}t + \int_{\Omega} W_{\lambda}\left(\sum_{j} a_{j}(T) \nabla \phi_{j}\right) \mathrm{d}x + \int_{\Omega} f \cdot \sum_{j} a_{j}(T) \phi_{j} \, \mathrm{d}x \leqslant C.$$
(6.7)

Because  $\phi_1 \equiv \text{constant}$  and  $\int_{\Omega} f \, dx = 0$ , the  $W_{\lambda}$  term dominates the f term in (6.7), hence we obtain

$$\int_{0}^{\infty} \left( \sum_{j} |\dot{a}_{j}|^{2} \right) \mathrm{d}t \leqslant C$$

for some constant C. Similar to discussions carried out in Section 4, it is not difficult to show that the Galerkin approximation converge to a solution. Subsequently, the theorem holds. We omit the details here.  $\Box$ 

**Remark 6.3.** We also derive, for the solution obtained above, for a.e. t > t' > 0,

$$\int_{t'} \int_{\Omega} |u_t|^2 \, \mathrm{d}x \, \mathrm{d}t + \int_{\Omega} \left( W(\nabla u) + f \cdot u \right)(t) \, \mathrm{d}x - \int_{\Omega} \left( W(\nabla u) + f \cdot u \right)(t') \, \mathrm{d}x \leqslant 0.$$
(6.8)

Consequently, there is a set  $K_2$  of measure 0 such that if t > t' > 0,  $t, t' \in R_+ \setminus K_2$ , then (6.8) holds. (6.5) also implies that  $u_t \in L^2(\Omega \times (0, \infty))$ . Hence, for any given positive number M and  $\alpha$ , there is a positive number L such that

 $\operatorname{meas} K_{\mathrm{LM}} = \operatorname{meas} \left\{ t > L, \left\| u_t(t) \right\|_{L^2(\Omega)} > M, u_t(t) \text{ and } \nabla u(t) \text{ are well defined } L^2(\Omega) \text{ functions} \right\} < \alpha.$ 

Now we discuss the property of the solutions as  $t \to \infty$ . Since there is a lack of regularity in general, we have to obtain asymptotic compactness of solutions as  $t \to \infty$  by imposing certain conditions.

**Proposition 6.2.** Let u be a weak solution of (0.1) satisfying (6.8), let  $\{t_j\} \subset R_+ \setminus (K_1 \cup K_2 \cup K_{LM})$  for some arbitrary L and M,  $t_j \to \infty$ , then the sequence  $\{u(t_j)\}$  is pre-compact in  $H^1(\Omega)$ .

**Proof.** Since the energy is decreasing, we know that  $\{u(t_j)\}$  admits a subsequence, still denoted by  $\{u(t_j)\}$  which converges weakly in  $H^1(\Omega)$ . Denoting the limit by  $u^*$ , then we have

$$\int_{\Omega} \left( u_t(t_j) \cdot \left( u(t_j) - u^* \right) + \nabla W \left( \nabla u(t_j) \right) : \nabla \left( u(t_j) - u^* \right) + f \cdot \left( u(t_j) - u^* \right) \right) \mathrm{d}x = 0.$$

Since  $\{u_t(t_j)\}$  is bounded in  $L^2(\Omega)$ , we obtain again

$$\lim_{j\to\infty}\int_{\Omega}\nabla W(\nabla u(t_j)):\nabla (u(t_j)-u^*)\,\mathrm{d} x=0.$$

The strong convergence follows.  $\Box$ 

Now we define the  $\omega$ -limit set for our problem:

**Definition 6.2.** For any given initial data  $u^0 \in H^1(\Omega)$ , we define

$$\omega(u^0) = \{u^*: \text{ there exists a sequence } t_j \to \infty \text{ such that } u(t_j) \text{ is well-defined,} \\ \text{satisfying (6.4) and } u(t_j) \to u^* \text{ in } H^1(\Omega) \}.$$

By our discussion, it is easy to know that  $\omega(u^0)$  is non-empty and it is easy to conclude that it is closed. Now we prove the

**Theorem 6.2.** If  $t_j \to \infty$ ,  $t_j \in R_+ \setminus (K_1 \cup K_2 \cup K_{LM})$  such that  $u(t_j) \to u^*$  in  $H^1(\Omega)$ , then  $u^*$  is a stationary point of the energy functional (5.25).

**Proof.** First, if there are two sequences  $t_j \in R_+ \setminus (K_1 \cup K_2 \cup K_{LM})$  and  $s_j \in R_+ \setminus (K_1 \cup K_2 \cup K_{LM})$  such that

$$u(t_j) \to u^*,$$
  
$$u(s_j) \to u^{**},$$

then because the energy is decreasing, we must have

$$\int_{\Omega} \left( W(\nabla u^*) + f \cdot u^* \right) \mathrm{d}x = \int_{\Omega} \left( W(\nabla u^{**}) + f \cdot u^{**} \right) \mathrm{d}x$$

As a consequence, since we know that

$$u(t_j) \to u^*,$$

up to choosing a subsequence, let S(t)v be the solution of (0.1) obtained as in Theorem 6.1 with initial data v, we have

$$S(t)u(t_j) \to S(t)u^*$$
 in  $L^2(0, T; H^1(\Omega))$  for any  $T > 0$ .

But as

$$\int_{\Omega} \left( W \left( \nabla S(t) u^* \right) + f \cdot S(t) u^* \right) dx = \text{constant.}$$

We have  $S(t)u^*$  is independent of t and is a solution of the steady state problem.  $\Box$ 

It is known from [24] that the set of steady state solutions is bounded and compact in  $H^1(\Omega)$ , hence we have:

**Corollary 6.1.** The  $\omega$ -limit set defined in Definition 6.2 for our problem is a compact, closed set in  $H^1(\Omega)$ .

6.2. The case where  $\lambda = \lambda^*$ 

In this case, the condition (H4) no longer stands and needs to be replaced by

(H4\*) (Weak upper-semi-continuity): If  $\phi_j \in G$  with  $\phi_j(0) \to z$ , then there exists a subsequence  $\phi_\mu$  of  $\phi_j$  and  $\phi \in G$  with  $\phi(0) = z$  such that

$$\phi_{\mu}(t) \rightarrow \phi(t) \quad \text{in } L^2(0,T;H^1(\Omega)).$$

Definition 6.3. The assumptions (H1)–(H3) and (H4\*) define a generalized weak semi-flow.

In general, generalized weak semi-flow is not useful in discussing long time convergence for non-linear evolutionary solutions because the convergence is weak and limit can therefore not be taken. However, the essence of Section 5 is to say that even with weak convergence, we can take the limit in the energy expression. Hence, we can argue in the same way as in Section 6.1 to establish **Theorem 6.3.** Let  $\lambda = \lambda^*$ , u be a weak solution of (0.1) satisfying (6.8), there exists a set  $K \subset \mathbb{R}_+$  with measure 0, a function  $u^* \in H^1(\Omega)$ . For any sequence

$$t_j \in \mathbb{R}_+ \setminus K$$
,

there is a subsequence of  $t_i$  still denoted by  $t_i$  such that

 $u(t_i) \rightarrow u^*$  in  $H^1(\Omega)$ .

Moreover, under the same assumptions as in Section 6.1, u\* is a solution of the corresponding steady state problem

$$\int_{\Omega} \nabla W(\nabla u^*) : \nabla \phi + f \cdot \phi \, \mathrm{d}x = 0.$$

In fact the set  $u^*s$  form a weakly closed 'weak'  $\omega$ -limit set for the problem.

## 7. Precise convergence

Generally speaking, the structure of the  $\omega$ -limit set (i.e., some subset of steady state solutions) of an evolutionary solution is rather complicated. The complication of the set of steady state solutions was partially discussed in [24].

However, as noticed in [24], in the neighborhood of A and -A, the system has a simple structure. We will show that the solution converge to Ax and -Ax respectively if the initial data is appropriately located and if the source term f is small.

In the following, for convenience, we assume that  $\varepsilon$  is a small positive constant, f is a very smooth function with  $||f||_{C^2(\Omega)} \leq \varepsilon$ . Let v satisfy

$$\begin{aligned} -\Delta v &= f \quad \text{in } \Omega, \\ \frac{\partial v}{\partial n} &= 0 \quad \text{on } \partial \Omega, \end{aligned}$$

then we have  $||v||_{C^2(\Omega)} \leq C_f$  for some constant  $C_f$ . Using the results of [24], when  $|X \pm A| \leq \lambda |A|/(1+\lambda)$ ,

$$W_{\lambda}(X) = |X \pm A|^2.$$

Let  $w = u \pm Ax - \varepsilon v$ , we know that when

$$\left|\nabla w(x)\right| \leq \frac{\lambda|A|}{1+\lambda} - C_f \varepsilon,$$

w satisfies the partial differential equation

$$w_t - \Delta w = 0 \quad \text{in } \Omega \times (0, T)$$
  

$$\frac{\partial w}{\partial n} = 0 \quad \text{on } \partial \Omega \times (0, T),$$
  

$$w(x, 0) = w_0(x) \quad \text{in } \Omega.$$

**Proposition 7.1.** Let the spatial domain  $\Omega$  be smooth and strictly convex, let the initial data  $u_0$  be in  $C^2(\overline{\Omega})$  and the right-hand side function f be in  $C(\overline{\Omega})$ , then there exists a constant  $\delta > 0$ , such that when  $|u_0|_{C^1(\overline{\Omega})} < \delta$ , then the solution of (0.1) satisfies, for all t > 0,

$$\left| (u \pm Ax)_1 \right|_{C^1(\Omega)} < \frac{\lambda |A|}{\sqrt{2}(1+\lambda)}, \qquad \left| (u \pm Ax)_2 \right|_{C^1(\Omega)} < \frac{\lambda |A|}{\sqrt{2}(1+\lambda)}.$$

Here  $(v)_1$  and  $(v)_2$  are the first and second component of the vector function v respectively.

Furthermore, the  $\omega$ -limit of u as  $t \to \infty$  is the only solution (up to an added constant vector) of the steady state problem

$$-\Delta u = f,$$
$$\frac{\partial u}{\partial n} = A \cdot n.$$

**Sketch of proof.** We start with the function w. Since w is the solution of a homogeneous second type initial boundary value problem for heat equation, standard PDE theory implies w is in  $C^2(\overline{\Omega})$  as long as  $|\nabla w|$  remain in the range where the Laplace equation holds.

Now we estimate the  $C(\overline{\Omega})$  norm of  $\nabla w$ . In the following we assume that the boundary (the tangent direction  $\tau$ ) of  $\Omega$  is oriented in the anticlockwise direction and the normal vector  $\boldsymbol{n}$  is the outward normal unit vector. We use  $\kappa$  to denote the curvature. Under this setting, we have

$$\begin{split} \kappa &> 0, \\ \frac{\partial \boldsymbol{n}}{\partial \boldsymbol{\tau}} = \kappa \boldsymbol{\tau}, \\ \frac{\partial \boldsymbol{\tau}}{\partial \boldsymbol{\tau}} &= -\kappa \boldsymbol{n}, \\ \nabla w_j|_{\partial \Omega \times (0,T)} = (\nabla w_j \cdot \boldsymbol{\tau}) \boldsymbol{\tau} \quad \text{for } j = 1, 2 \text{ and for any } T > 0. \end{split}$$

A simple computation then leads to, for each j = 1, 2,

$$\begin{cases} \partial_t |\nabla w_j|^2(x, y, t) - \Delta |\nabla w_j|^2(x, y, t) = -2|Hw_j|^2(x, y, t) \leq 0, \\ \frac{\partial |\nabla w_j|^2}{\partial \boldsymbol{n}} = -2\kappa |\partial_{\boldsymbol{\tau}} w_j|^2. \end{cases}$$
(7.1)

The first equation leads to that  $|\nabla w|^2$  has no (positive) maximum in the interior of  $\Omega \times (0, T)$  for any T > 0. The boundary condition leads to that the positive maximum can not appear on  $\partial \Omega \times (0, T)$ . Hence we have

$$|\nabla w|^2(x,t) \leqslant \max_{x} \left| \nabla w_0(x) \right|^2.$$
(7.2)

Using the relation between w and u, we obtain that as long as

$$|\nabla u_0 \pm A||_{C(\overline{\Omega})} < \frac{\lambda|A|}{(1+\lambda)} - C_f \varepsilon,$$

the solution stays in the desired domain and we have the heat equation on u.

The conclusion on  $\omega$ -limit is now standard.  $\Box$ 

#### Acknowledgements

The authors would like to thank their colleague K. Deckelnick for constructive discussions.

## References

- [1] E. Acerbi, N. Fusco, Semi-continuity problems in the calculus of variations, Arch. Ration. Mech. Anal. 86 (1984) 125–145.
- [2] J.M. Ball, Convexity conditions and existence theorems in nonlinear elasticity, Arch. Ration. Mech. Anal. 63 (1977) 337-403.
- [3] J.M. Ball, A version of the fundamental theorem of Young measures, in: M. Rascle, D. Serre, M. Slemrod (Eds.), Partial Differential Equations and Continuum Models of Phase Transitions, in: Lecture Notes in Phys., vol. 334, Springer, Berlin, 1989, pp. 207–215.
- [4] J.M. Ball, Continuity properties and global attractors of generalized semi-flows and the Navier–Stokes equations, J. Nonlinear Sci. 7 (5) (1997) 475–502.
- [5] K. Bhattacharya, N.B. Firoozye, R.D. James, R.V. Kohn, Restrictions on microstructures, Proc. Roy. Soc. Edinburgh Sect. A 124 (1994) 843–878.
- [6] B. Dacorogna, Direct Methods in the Calculus of Variations, Springer-Verlag, 1989.
- [7] S. Demoulini, Weak solutions for a class of nonlinear systems of visco-elasticity, Arch. Ration. Mech. Anal. 155 (2000) 299-334.
- [8] L.C. Evans, An unusual minimization principle for parabolic gradient flows, SIAM J. Math. Anal. 27 (1) (1996) 1-4.
- [9] M. Fuchs, Regularity theorems for nonlinear systems of partial differential equations under natural ellipticity conditions, Analysis 7 (1987) 83–93.
- [10] M. Giaquinta, Introduction to Regularity Theory for Nonlinear Elliptic Systems, Birkhäuser, Basel, 1993.
- [11] J. Hale, Asymptotic Behaviour of Dissipative Systems, Amer. Math. Soc., Providence, RI, 1988.
- [12] R.V. Kohn, The relaxation of a double-well energy, Cont. Mech. Therm. 3 (1991) 981–1000.
- [13] D. Kinderlehrer, P. Pedregal, Characterizations of Young measures generated by gradients, Arch. Ration. Mech. Anal. 115 (4) (1991) 329-365.
- [14] D. Kinderlehrer, P. Pedregal, Gradient Young measures generated by sequences in Sobolev spaces, J. Geom. Anal. 4 (1) (1994) 59-90.
- [15] J. Kristensen, Finite functionals and Young measures generated by gradients of Sobolev functions, Ph.D. Thesis, Technical University of Denmark, Lyngby, 1994.

- [16] C.B. Morrey Jr., Multiple Integrals in the Calculus of Variations, Springer, 1966.
- [17] S. Muller, V. Sverak, Unexpected solutions of first and second order partial differential equations, Special Volume Proc. ICM Volume II Documenta Math. (1998) 691–702.
- [18] M.O. Rieger, Young measure solutions for non-convex elasto-dynamics, Preprint.
- [19] V. Sverak, Rank-one convexity does not imply quasi-convexity, Proc. Roy. Soc. Edinburgh Sect. A 120 (1992) 185-189.
- [20] Q. Tang, S. Wang, Time dependent Ginzburg-Landau equations of superconductivity, Physica D 88 (1995) 139-166.
- [21] Q. Tang, K.W. Zhang, Convergence of heat flow solutions under multi-well potential energy, Preprint.
- [22] K.-W. Zhang, On the Dirichlet problem for a class of quasilinear elliptic systems of partial differential equations in divergence form, in: S.S. Chern (Ed.), Partial Differential Equations, Proc. Sympos., Tianjin, 1986, in: Lecture Notes on Math., vol. 1306, Springer-Verlag, 1988, pp. 262–277.
- [23] K.W. Zhang, Biting theorems for Jacobians and their applications, Ann. Inst. H. Poincaré 7 (1990) 345-365.
- [24] K.W. Zhang, A two-well structure and intrinsic mountain pass points, Cal. Var. Partial Differential Equations 13 (2001) 231-264.